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QUESTION 1

What are two functions of the routing protocol daemon (rpd)? (Choose two.) 

A. It creates forwarding tables. 

B. It provides access to the CLI. 

C. It maintains routing tables. 

D. It generates chassis alarms. 

Correct Answer: AC 

 

QUESTION 2

A packet enters a Junos device. No matching destination entry exists in the forwarding table. How will the device
respond? 

A. The RE responds to the source with a destination unreachable notification message 

B. The PFE responds to the destination with a source unreachable notification message 

C. The PFE responds to the source with a destination unreachable notification message 

D. The RE responds to the destination with a source unreachable notification message 

Correct Answer: B 

 

QUESTION 3

You configured your system authentication order using the set authentication-order tacplus radius password command. 

Which statement is correct in this scenario? 

A. A rejection by TACACS+ will prevent a login and bypass the other two authentication methods. 

B. The password authentication will only be used if the TACACS+ and RADIUS servers fail to respond. 

C. All authentication methods are used with the most restrictive permission set used. 

D. The password authentication method is evaluated if the TACACS+ and RADIUS servers respond with a reject
message. 

Correct Answer: B 

 

QUESTION 4

You have logged on to a Junos device and are at the operational mode prompt. 
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Which two commands are used at this prompt? (Choose two.) 

A. show interface ge-0/0/0 

B. request system shutdown 

C. set interface ge-0/0/0 unit 0 family inet 

D. run show interface terse 

Correct Answer: AB 

 

QUESTION 5

You issue the telnet 10.10.10.1 source 192.168.100.1 command. 

Which two statements are correct in this scenario? (Choose two.) 

A. The telnet session will have a source address of 192.168.100.1 

B. The telnet session will have a destination address of 10.10.10.1 

C. The telnet session will have a destination address of 192.168.100.1 

D. The telnet session will have a source address of 10.10.10.1 

Correct Answer: AB 
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